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Module Name : TET - Paper 1 - Tamil
Exam Date : 19-Oct-2022  Batch : 09:00-12:00

Q. No. Question Body and Alternatives

1 1| Theory of concept formation illustrated by :
SHHSSBUTEHSS QTG efleufl&SId ganilweur :

A: ]. Bruner
J. L@eoory
B: Morgan
GLOMTIF& 60T
C: Ausubel
2,FG L6V
D: Ross
@rrmeny
2 2 At Which stage, a child gets coordination of motor activities according to Piaget.
Lﬂum%g FaMHMILILIG, 6THS Blemeuuie) (B GBS 2 L 6v 2 miliL|&erfler QaFweLImh &erflear edaienplianul
QUK MG ?

A : Sensory motor stage
LI6VE0T @)UI&:8 Blemev

B: Pre-operational stage
QFWNIGE (LHUL L Blemev

C: Concrete operational stage
LJ6v6ofL 60T Q& W6 [Bl6treu

D : Formal operational stage

&HHSD I Bleney

3 3 | Four cognitive modes of a learner is :

&MHCUTI 6T BT MISMedT 61 &6 6T6oTLIG

A: Recall, Principle, Questioning, Application
5L (D &Q & MetuT 1860, Q& M6Ten &, e5ler e G& L1 60, LILITLIT(H
B: Recall, Recognize, Reinforce, Remember
LS (D &R\ & M600T 7 & 6V, 6] (D MIQ S TETEN &6V, el L 60, [Hlemeore]
C: Recall, Recognize, Principle, Application
LS (5 &:C\ & T6BOT 785 60,67 (D.MI G\ & TETEB &6V, 618 TETem &, LILIGTLIM(H)
D: Recall, Remember, Principle, Application
LS (D& & TEOOT TS5 6V, [Bl6menT6), Q18 METemn & LIUIGTLITH
4 4 | In what age child communication is in the form of eye contact and noises ?
6THS QUWLIB6V & LDIHE0) S5 6T &600T &6 LDMMID 60 epeuld o eueneult Lflinmmiin ?

A: 0-3 months

0 -3 LOMGMBIG 6T

B: 6 months
6 LDITS M & 6T
C: 9 months

9 LOMG M & 6T
D: 12 months
12 DT MBI 6T

5 5 Duckling and gooslings follow the mother, soon after hatching perhaps on account of the stimulation provided by her movement and noises She makes.
Which is :
GEHFHET QUTNISSE 2 L C6uT aUMG e LI60T Q&ML (HLD & Eh& & 6T H6iT HTUNGT 360 &F6HEn6TULD 2SI 6T(LIL|D
sedlsmemeruid LNeTLIHmiaIS)

A : Learning of Imprinting
2 QWITHMS &bHmey
B: Learning of Verbal

amiQmy smmev
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8 8
9 9

C: Motor learning
QW&H&HS SHMHMe
D : Problem solving
Ny&aemereniLs &g g 60
Which of the factor that develops students skill ?
D mevorel T & 6rfledr 2_aTemmIhe HMen 6T eUaT &G LD &TTeo] :

A: Age factor
QG FTTHS &MI6oof]
B : Environment factor
GBIV FTTHS &TIeoor]
C: Social factor
FOLNGG GITT6uof]
D : Physiological factor
2 LedWwev FMIHS &miyeuol]
The Mental structure of schema :
GUBLOIT 6TEOTENILD LOGIT {emLOLIL] QUOHNIBEGLD.

A : Experience, Practice, Knowledge, Skill
SispuauL, LWHA, sinley, Hmenio
B: Development, Maturation, Knowledge, Skill
aleTIES, WEFTES, 9iniley), HmeLo
C: Beauty, Experience, Maturation, Knowledge
2APG, AILAILD, WHTES, 2rley
D : Experience , Skill, Maturation, Development

LD, Hmenl, (NHTEFS, eueTigs

Which pattern fills the blank space ¢ an testing verbal item for.

1 2 3 4 5 &
B D DD D

65 eulgsuwenm Gleummiuil Hens HlTliyb ?
se(m sumiiGlomyp) Gersensouilst arhlSHISETL(H) @

A: Puzzles
usy
B: Picture series
ULS QS TLF
C: Spatical visualization
@LEFTIHS STLALILOS S
D : Figure matrices
LIL o|6001]
According to piaget, which operational stage extending from about 7 to 11 years marks a major turning point in cognitive development :
LNWmGs sammILILIL 6THS QFWLITL (B Blenev 7 (&6 11 21,600T(H &6T euemT Sipfleummmev aueTIFFR U6 (h
B ([HLIL|(LDEDEDT WITESLD.

A : Pre-operational stage

LDETEF QFWELTL(H&G (WHen W Blenev
B: Sensorimotor stage

L|6V6IT @) W&:8 Blemey
C: The formal operational stage

SBHSH W6 QFWLTL(H Blenev

D: Concrete operational stage
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LGLQUMHET QFWeLTL® Blemev

10 110 Factors not helps to facilitate memory .
Blenerallener CLMLIGSS 2 FaITg &ITFeoorl]

A: Self learning
& &MHMeV
B: Interest
JE18; (o1
C: Rote learning
SGLG WeTLILMLLD
D: Multi Sensory learning
LI6bL6vedT euLdl HMHmeY
1 11 Which one of the following is best suited for emotional development of children ?

LN etTeu (HeuesTaU DN 6L 6181 & LPH6M S & 6rfl6oT a6l (PER aleTIFR &G L &HaILD QLIT[HESSLDTETS! ?

A : Democratic classroom environment
QETHTUWLS QUGLILIMD @LO6V
B: Controlled classroom environment
SLOUUGSS UL L aU@GLLD GLo6V
C: Authoritarian

DI END)
D: Teacher centric learning
AW emiow &HHmev
12 12 "Social development means the attaining of maturity in social relationship" is stated by :

"FONG GUETIER eTedTLISI Fens 2 Me|&6rflel (NG FER MW SemLeugl" 6TeuTd: nmlwieur :
A : Freeman and Showel
LifGLoedT M mIlD &Fmeuey

B: Sorenson

GFITyedTE 60T
C: Garrett
SMyL
D: Hurlock
QMTeLITs
13 13 'Emotional expressions in late childhood are pleasant one'. Which of the following statement is not relevant ?

NhensWw GLHmns Li[HalSH 60 neTealWwdER Qeleflliuim®b @ &L0mer eetml'. LD &Memilh 6iTd: &) wihigerfley
QsTLieveuns gl 618! ?

A : The child laughs and rolls on floor
GLBans FlEsaln, Henruiley 2 [Hereld Q& uwIumnh
B: In general shows an animal spirit
alleuhiG & 6rfletT 26185 56 S &L HEM S &6T QeuaflILIB SSiauT
C: Emotional expressions are highly matured
WweTQeWsFR QeaualLn® Wseayb WHFEF UL 6T &) &G
D: Child is happy
GBS IRDFR WIS G (H&HGSD
14 14 | Which of the following is not correct regarding the interest of children in school ?

Ueitef1& @LoBen g Serfler allBLULD FMibHS HHSH 6 618 FflWmers Slevey ?

A : they are enthusiastic about school at the beginning years
QBMLES au@LmiGe6 LisTafulley & h & SM8605SIL 60T @BLILIT
B: by the end of second grade they feel bored
@ esoTL D 6u@GLILN60T (Ig6ilev F6dlIL) Qs maTel T
C: their attitudes are greatly influenced by how interesting teachers make learning material
Sjeusserflet el ILmeTemno A FIWIT 6THS 3166 2 MEFTEHLOMET HHMEV QUIMHL &M QF LGB MTTSHET 6TeT LI SL]
QUITMIGH S STEHSHLD QLMILD
D: they give great consideration to their capacities for future jobs
TRT&HMTL QFMlemev CHTHOSH(H &HEFI W H&HH FhiG6 LD @BERMST 16T FH LD eTevoreoof 1Lt LIMFLILIT

15 15 On successtul completion of gth stage of Erikson's psycho-social development people attain virtue.

6Tifl & & 6ufl 60T 8 Blevreu BB emaT QaUMHMGTINTS (WNIY&S QUMM D& 6T HETQ 60T {6MLGUIT.
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A : Intimacy
@\ 600THHLIDF T
B: Amicable
BLLFTT
C: Productive
LIeOL&GWLETT
D: Integrity
156060\ 60078 & LD FITIT
16 16 Which among the following stage of cognitive development includes involuntary reflexes such as sucking, grasping and looking ?

BLEHHTL 6THS SIMB 6T aueTFFS Blemevwilev el LILILS6LeuT W pfleflemeoTas 6 TenT 29l 6h & &6V, LIMMIGev LoMmILD
LIMT&S560 GLITETM Q&FWIGL&6T 2 6TaTL RIS WG ?
A : Concrete operational stage
LIGLUQUIMIHET Blemev
B: Sensory motor stage
Levenflw & & mlemev
C: Formal operational stage
&HHSH LI Bleney
D : Pre operational stage
QFWNGE (LHUL L Blemev

17 17 | Physical or mental representation of an action is called as .
2(H QF WML 2 L6 FHWTHGT {6060l 06T FH WITEHGIT GO MG S ITETET G6U6DoTIq Ul SemLDLIL| Q& W6V M

A : Cognitive map
MQFTT UenFLLLD
B: Concept map

&H[HSH S euen UL LD

C: Schema
VGO
D: Mind map

LD6OT QUEMTLIL LD

18 18 | Somu always do what he can to help others. Which of the character associate with this ?
GEMLW TLIQLIMDSILD &eoTer el (PWeTm 2 selseneT Lnmhe e Q& iamer. @560 mhg CFmwailLLb &mewor Ll L
G6OOTIHEVLD 615! ?

A : Discipline
R(PEHHLD
B: Honest
GBIl
C: Maladjusted behavior
QUTGBSSUTLMHM BL-SeHS
D: Compassion
@T&HHLD
19 19 I;ind out which of the following statements caused bad habits among the students due to the influence of the Media ?
tatements :

(a) Loving other creatures

(b) one student fighting with 10 students at a time

(c) Acting tactfully in times of emergency

(d) Trying to break the wall by stabbing with hands

BCLD Q&BTHGHSLILL BTN SaMmisefle) @ BHS! 6THOSHS FnMMIGET 261G 1561160 51888 5 60TV
LomeooTeU &6l em LG B LILNG & EISHE 6T LG SH WIS 6T60TLIENG & 60T LM :

(2) W 2 Wflermsamer CHHSSH60

(b) @G GBIEH 6L 62(IH LDMEUOTEUEIT LIS LD IT6ToTel 78 6B L 60T & 6toTem L UN(H1 S 60

(c) SeuFT smevmisefle) FLCWTRSLONS QFwWaL(H 60

(d) MEHGHETTE FEUDT GS5H 2 L5 (LWHF GGV

A (a),(b)
(@), (b)
B: (b),(0)
(), (©)
C: (0 (d

(c), (d)
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D: (d), (@
(d), (2)

20 120 | In children, decreased secretion of thyroxin causes :
GLHMSHETLSH 6 MG TTEF 6T GNMEUTS &I ELMeTmev gHLB IS :

A : Cretinism
&g eoll &
B: Gigantism
S|FMSTIE00T 2 L6V eUeTTEGF
C: Dwarfism
(SETETES HETemLD
D: Goitre
(PET HWDSS HLOM6V
21 21 What a teacher should not do to change a child who comes to school with negative self-identification into positive self-identification ?

TRFTLOENM SETETEMLWITETLD Q&TEU0TL & L0HeMS LIATeMN &G aUBLD QUITWDS! 2i6UT&HemeT 2 L eTLITL () &60T60rem LW MeTLD
Q&MeooTL TS MMM SAAWT QFUIW Sl TS 615 ?

A : Calling the children by name
GLPHBOSHEMET QLIWT Q&FMeV6d DemLpLiLIgi
B: Being kind and considerate
JETHLD QY FTe D QBTHLLIS
C: Share their happy and sad experience
@)60TLI LOMHMILD SIETL S &BILIeUMBIGemaT LIFlmmieu gl
D : Isolate from others
whoaflLbl®Ghs Salonubssias)

22 22 | When the character "irreversibility" happen in children's life ?
GBS G660 aUTLDE 608 W6V "LoeoTEHemell 6V LI6TITE & 60TemL0" 6T60TM LI6ooTL| &TeooTLILI(HILD Blemev :

A : Formal operational stage

(PEMWITEOT DT QIF WeLLITL(h LIHeULD

B: Concrete operational stage
HEO0TE LTS LUMTTLILMS Q& mevor(h FHH & @& LH6ULD
C: Sensory motor stage
L|6V6IT @ W& 8 LI(H6ULD
D: Pre - operational stage
06T QEFWELLITL Y ME& (LB LI[HeULD
23 23 Which among the following is not a characteristic of Games ?
B LD 858 600TL_6UMH MIGT 678 & (D 61160)6TWITL1Q.60T LI6B0TL|I56V60T FTTTSHE! ?

A : Eradication of selfishness
& [H6V 2_600T[J6M6U &H60)6TS 60
B: Following rules regulations
FLL S LBIG6T LH G560
C: Developing cooperativeness
QOO0 2 60T Fen6l FHLIB S SIS
D : Blaming others in the team
& WweNleL 2 6T LIMenT G6mM Fn MIGH60
24 24 | Which one of the following is not a component of an Interactive video system ?

LY étTeuHeusTeum mieT @enLelener Lflujb &meermed Semliféh @LIbQUMTS LGS

A : Micro computer
516007 85600160l
B: Video disc
&M 6T Ted H& B
C: T.V. Monitor
QFTOVHSHTLF HlenT
D : Overhead projector
SHM6LEEG GLo6L LNbLID 6fh&S)
25 25 | While teaching the sense organs teacher tends to explain the functions of tongue (taste) initially. This is type of teaching method.
Lj6v eI MILIL| 61T 6T60T GILIMEI6UTET &H(HSH 6V QBHS! BTEHE 6 semeaul Mg e ListoremUl eflend: & Sy LweTU® SSID
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&DHLINSH S0 TGO :

A : Historical

QUTELITHMI (LMD

B: Inductive
ABTGSSM (POD
C: Deductive
LUGSB thenm

D: Discovery
HeuorL_n Wemm

26 26 | Which article represents the child's right to free and compulsory education has been included in the Indian Constitution ?
QBB W TR WL @eveus &L LMW Sevell 2 fleanwenwds GMLUGLW0 Fr65s! -

A Article 21B
FU56Hsl 21B
B: Article 45
FISHSI 45
C: Article 21C
FUHsI 21C
D: Article 21A
FUHSI 21A
27 27 | Play - way method of teaching in lower classes is based on

SLpBlemev e LIL&efe LweTLG SSLUILG LD sﬁ]e‘mmu_lrn_(a WME HHLISSNEEG 219 LILIevL

A : Principle of mental development and growth

LDGOT GUET &R & & mTeor 2_amailuiey G&HTL_LIMH LOMMILD eU6TTEE
B: Sociological principles of teaching

HHLNSHNESHTET Fend CamL LMk
C: Theory of physical education

2 L H&evalls: Q&meTen s

D : Principle of methods of teaching
&HMHLNSH60 (PeMESHTeT CHITLLITGH
28 28 | Assertion (A) :
The principle of feedback has been utilized in the development of teaching machines.

Reason (R) :
The machine operates and tells the student whether his answer is correct or not.

Dol (A):

LS6TUMTemed Q& MeTemn & WITesTa! SML1S5 860 QUM &e e auerfFRuNey LWeTUOSSILGSMS!.

SITT6uoTLD (R) :

&MHLISH60 QuTMlullensr @ WsHEGLDCLITS omesoralfleir ellenL FfWT S6V6V&I HAUMIT TETLIMNSE S MG MSI.

A : Both Assertion (A) and Reason (R) are correct, R is a correct explanation.
Fa MM (A) DHMILD STT6eoorDd (R) @ eoorGd &ifl. &myesorid (R) &Ffwimeor eM6méd:&InmELD
B: Both Assertion (A) and Reason (R) are not correct.
FaDOI (A) LDDYID STTEOTLD (R) @TTTEID S
C: Assertion (A) is correct, But Reason (R) is not correct.
Fa MMl (A) Fifl. L,60TM6L HMTI6vorLDd (R) Heuml.
D: Both Assertion (A) and Reason (R) are correct, But 'R' does not explain properly.
Fahol (A) LDHMID STFeTD (R) @TesorGILD Fifl. SL60TT6L &TFeord(R) &iflwiment 66mé:&L0e6v6v.
29 29 | Find out the technique which is not involved in Active learning.

QFWaIM &HMHMede) L LD QUMTS BHIL LGNS &6voTL_ M :

A: Case study
S6oT W6 o416
B: Assignment
RUILIML6Y
C: Role play

URIGHHD B14&56)
D: Group project
GW QFWOHSHL L LD
30 30 | Vygotsky analysis the relationship between learning and development is the basis for his concept
HHNNGGLD UeTIFR GG 2 66T QGTLFLN6m6T LGS SIS0 60T 319 LILIELWITS cmm.lasrn_e;mQ SN G e :
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A : zone of proximal development
LB W mlenel 2_([HelTs el Masmer @)L LD
B: socio economic development
FONG QUITIBETTSITT QTS
C: teaching learning process
SO &HLISSE Blshey
D : zone of prior knowledge
WHESW M6 GUETTEF &8 TeoT G L LD

3131 . .
FIfl W6 @) 60 600Tem WIS &ITET0TE :

A:
BED6U — GOHMLD

L5560 - Al Hey
BLFTHSTT — QLB QUDMITH

A FLLMYT — @iIGeuTT
32 32
CIUMTHESIS :
(@) Guiflwmp (i) 14 BTLDLYEET
(b) LDSTWITLD (i) 19 BIWOL&SET

(e) FGsHTLWMD (iii) 21 mTbyseT

(@)-(iii), (b)-(ii), (c)-(1)

(@)-(iii), (b)-(1), (¢)-(ii)
(@)~(ii), (b)-(1), (c)(iii)

(a)-(i), (b)-(ii), (c)-(iii)
S GgLbLImeueusi] LIML 6L & 6rfledT 6T6tor6uor]86m8
A
3115
2615

3615

4615

34 34 . . . .
EQ6ITLSLD 6T60TLIG 60T QILIT(HET :
A

2_600T6Y

LGHS!

[ 0]

I@ILIGILD.

353 "&LOBT N&EHS HLOEBELD 6Tif6q" eTedtm aurfl @)L LD QLIHM HT6V :

A:
LEDDILILS S
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15D ) 62 6507

Q&MeL&TILIWID

SMIBIHUSI

3% eLgs QLMY&GLWD, WSS QLMHA&HGWL @emLCW Qulw 3j6Telle CaumiLIM(H &6T @ BHSTE Sl

eTeorLILI(HILD.

A:
ALY eipsd @ Qomd
@QULeL aup&HG Qmg

2 & aUPEE Qmdl

GaumiUmL® @Qumd

37’7 & I0ELTE BIMILLD S&Henailh E)6V6VITS & HST60T 26N([H&E 2611J BIMLD IMINEF Femel LDMMIGITET S|6U6T WM ?
A

STHol

560076001 [

(N3N

SL&TWLD
38 (38

LOIT' 6TEOTEILD QFMLEGL QUTHHSTSHS :

A

alleumiiE

LOFLD

S MPES6V

LInkG

S '[5', '60T", 600T — 6T(LD G S1&H6M6T {6MLIMETLD &ITE00T 2 F LD 6T HSIFH6T (MM :

A:
&, L.
B:
LM
C:
5,0, L
D:
L& 0
40 40 L . .
BT WD eTedrm Bredledr oL@ flwii :
A:
QUGESRSS T
B:
urySwmy
C:
LTy & & ImTe 6ot
D:
BITLO& &6V &6l 6T
41 41

G LD G T6UoT LI 60T6U (D MIET QLI[HEHF SH JeoT T 6T TS HT6U :
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Bror@flwib

Q&BMUIWITE G 6of]

GT60T G 60Y6L 6T600T LIS

LLMBIQ&ITIG

L smer @ummlw sellengenw Qeueflu@b Gumg umFEwmfler euwig! :

A

11 euwigl
B:

12 el gl
C:

10 WGl
D:

14 euw gl

43 8 . . .
'IDTL6V6V LDemM Wiemer' @G0 ') eTedTLIS! :

A:

Q&F6v6uULD

HIT6V [HEOIL

2 wgey

Lieoofley
4 44

W&6 WSS R UGBS :

A:

GLomemeor

TSI S

Qeowi

(WIyevor

L L FCHEMBHTFH6T0 BT HMTMHIGET QFMHHONEG 2 HelTHH W nmardH 6 Limbs CHILD :

A

10 QBT &H6T
B:

25 QBITIY &6T
C:

10 BIAL_rigseiT
D:

12 QBT &6T

46 |48 LTQeT(® 6UBES FaGPME QUWIBHLD' 6TETEID LIML 6V 314 @)L LDQLIMHMIETET BTy

A:

BHflenevor
B:

GOBHOHTOSH
C:

SIS HTTDI
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LD Term!

47 |47 . . . .
LS80S QS TeneCBHTEHSTET :

A

HMTHH I H6T
B:

S 216007600 T
C:

LieuemLnL1L9 & g 61
D:

FHHeng Quilwmy

48 |48 & enTwiler edld GMlLiL eTal 2

A

sHemeorLl QLimerf]
B:

Hemeoorll Qumed
C:

HemeoorLl Quimerf]
D:

SHemeoTLl QLmed

49 19 'LIL| 6y’ — 6T6OTM Q&F MLVl 6dT QILIT(BET :

A:
2 gallen) W LDMEUTEmLN
B:
BLLI& Q& TETEHH60
C:
6TeLGEITEM TUJLD FLOLOME L1 GLISTI G560
D:

@ TQEFME BLIG H6V

0|50 DMl & WITTUIL LImUIUSMHEE HEVeV LOMGaILD Q&F WIS L CeletoT(HILOLDLOIT ... 6Te0TMI SomWLI6U :

A:

urgSwWmy
B:

seflLoeoof]
C:

LUmGeubsT
D:

BILD&&6 &ellEh

S '@\eT 6TETMD QI FMELEN 6T QLITH6IT

A

LDEDIBY
B:

2 _6ooTeY
C:

©)60) (06U 60T
D:

@GLULILLD

22 2009 21D 24,680T(H) 15(H) 6LU6TIT S|[TG |6TOTCU0T T [B]6M60TEUTE D6UT 2 (Heuld QUTN&ELILIL L 6THS [HT600T WS 0S5

QaueMuil L gl 2
A

@ UetoT(® LM

BbHSI epLIML
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C:
Lggl empuml
D:
B! epUImUl
38 Qe QUWBHHS THSBIHHTLD :
A:
(1T
B:
UL LD
C:
20F:3
D:
Q& 60760 60T
4|34 @ 6TRFMeL eNlemerBlevenTT FHG6 G5 TS aUETEF T &6t L &L (H THAGILLY.
A:
QFWemln
B:
STUlemLn
C:
aUTlemnLn
D:
srlenn
5 RHMUFTE SLALDET 6T6TEID QUMY @S QSTLBISLILLL 21,6000 :
A
1905
B:
1906
C:
1907
D:

1908

6|6 BI65 86U & evorevol] Hredledr <SPl :

A
SITWLOTeoTeU T
B:
(&6OOTTRIG LY. DGV G T6T FMHIL
C:
& TellGieumeT WeTmL & &b LD LieTener
D:

LeWUL L 6L & QFMHHBTSHLI Ljeuel)

57 |57 . .. . . R . . R ..
JHMEUTEE @)6VEDIEV 6T60TE FnMITSI HLDLOME (LDIGHSHEIMT QHTHSHSI 256 LIU[EET :

A:

156V6V L1600T L6 L_WITI
B:

T56V6V (& 600T(LOED L WITIT
C:

B6vev GULULIDBSTT
D:

56VEV 6 (DG G (LPEDLIITIT

S QUWITE QFTeLemELLLLD eN6m6erTd QFMELEmEVUILD FMTTHS! QUHEUS :

A:

o flF Q&mev
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B:
Friflenw
C:
FHE
D:
@enLg QF ey
59 |59
QuT(hS &I :
(a) QuwIrF GlFmsy (i) 2 Ml sTmsiT
(b) eSlemsord Glamsu (ii) (PWIBYILD 2 EHLOW|LD
[c] @enLg Glemsy (i) wrEsrd CUEBS
(d) =zifl&Gamsy (iv]  wmenT
A:
(@)-(iv), (b)-(1), (c)-(ii), (d)-(iii)
B:
(@)-(i), (b)-(ii), (¢)-~(iii), (d)-(iv)
C:
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
D:
(@)-(iv), (b)-(1), (c)~(iii), (d)-(ii)
60 |60 6TID.&). @ MNEFHS T60T D eUTSHET LDGlemTuiley 2 V&S S MBI L [BL &S 60T,
A:
eLOGTMITLD
B:
@) JeuoTL_ITLD
C:
BBHSTD
D:
[HITEOTSITLD

61 61  Select the correct option.
Fungi : Fungus : : Species : ?

A : Specey

B: Specy

C: Species

D: Specie

62 62 Pick out the odd one.

A: whined

B: snarled

C: roared

D: sniffed

63 63
Match the following :
(a) Mesh (i) Maving slowly or rhythmically
(b) Swaying (ii) Laughed in a half suppressed way
(c) Snaking (iii) Material made of a network of wire or thread

(d) Sniggered (iv) Moving like a snake
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65

66

67

68

69

A (@)-(i), (b)-(iii), (c)-(iv), (d)-(i)

B (@)-(iii), (b)-(1), (¢)-(iv), (d)-(ii)

C: @-(), (b)-(iid), (¢)-(iv), (d)-(ii)

D (@)-(0), (b)-(iD), (¢)-(iv), (d)-(iii)

64 | Who is called as the Forest Man of India ?

A : Jim Corbett

B: Jadav Payeng

C: Lord Malcolm Hailey

D: Ajay Kumar Garg

65 In the process of syllabification one word is differ from others. The word is :

A benefit
B: usually
C: legacy
D: element

66 | The word 'epitaphs - happiest is an example of :

A': Antigram

B: Anagram

C: Confused words

D: Monogram

67 | " My father was boiling mad" .
-What figure of speech used in the above line ?

A': Simile

B: Metaphor

C: Personification

D: Imagery

68 | Pick out the correct sentence.

A : Mohan is the tallest and most intelligent boy of this class.

B: Mohan is the tallest and more intelligent boy of this class.

C: Mohan is the taller and most intelligent boy of this class.

D : Mobhan is the tallest and intelligent boy of this class.

69 | Why was the math book always worried ?
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70 |70
717
72 |2
73 73
74 |74

A : Ttis full of tables

B : It has so many problems

C: Itisavoided by many

D: Itis theoretical

Eponymous words means :

A: Clipped words

B: Polite alternatives

C: Words whose origin is traced

D : Words used to denote scientific terms

is a popular folk dance of Tamil Nadu.

A: Kathakali

B: Karagattam

C: Kuchipudi

D: Mohiniyattam

Fill in the blanks with the correct proverb.
Laugh away your

A: vessel
B: cheers
C: act
D: apple

Find the synonyms of the underlined word.
Vijay is very furious.

A angry
B: sad

C: confused
D: difficult

Choose the correct preposition from the list below :
The head office is Nungambakkam. It is

A: at, in, near, by

B: in,at, by, on

C: in,in, off, over

D: at, at, by, of

college road. As you go

the station, the office is

GET IT ON

Google Play

the right side.
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75 75 | T come at the end of interrogative sentences. Who am I ?

A: full stop

B: question mark

C: exclamatory mark

D: quotation

76 76 | Rearrange the word in logical sequence :
(i) Stop
(ii) Slow
(i) Wait
(iv) Go
(v) Get ready

A (i), (iii), (v), (iv), (1)

B (i), (ii), (i), (v), (iv)

C: (i), (i), (i), (v), (iv)

D: (iv), (iii), (v), (ii), (i)

7 77 Today is Sunday then Tuesday falls on :

A : The day after

B: Yesterday

C: Over morrow

D: Tomorrow

78 78 | "Yours loving daughter" is a used in personal letter writing.

A': Salutation

B: Superscription

C: Body

D : Subscription

79 79 | 1£'103' is code for the word 'Student' then find the word for the code '60' as total.

A1 School
B: Books
C: Teacher
D: Bag

80 180 Choose the right pattern for the following :
Raja hired a standard bicycle.

A: SVOA

B: SvC

C: SVO
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D: SVIODO

31 81 Find the plural form of the word - 'Swine'.

A': Swine
B: Swines
C: Swan
D: Swins
82 82 | The accusative case of the pronoun - [ is :
A: my
B: me
C: mine
D: myself

83 83

Matech the sport and the equipment.

(a) Football (i) Net

(b) Tennis ii) Bow and Amrow
[c) Cricket (iii) Club

(d) Volleyball {iv) Racquets

(e) Archery (v) Bat

Az @+, (b)-(iD). (¢)-(v), (d)-(iid), (e)-(iv)

B (a)-(iv), (b)-(iii), (¢)-(v), (d)-(ii), (¢)-(i)

C: (@(ii), (b)-(iv), (¢)-(v), (d)-(D), (e)-(ii)

D (@)-(ii), (b)-(1), (¢)-(v), (d)-(iv), (e)-(ii)

34 84 | The animal which grunts is

A: donkeys

B: owls

C: horses

D: pigs

85 85 Complete the following using their group name.
A of lions went hunting in the forest.

A: shoal
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B: group
C: swarm
D: pride

36 86 | Choose the correct question tag from the options.
She rarely comes late.

A: Isshe?
B: Isn'tshe?
C: Does she ?

D: Doesn't she ?

87 87 | Alliteration is the repetition of

A : Same constant letters.

B: Same vowel letters

C: Same line

D: Starting words are same in two or more lines

38 88 | The car dashed the tree.
A: against
B: across
C: on
D: over

39 89 The thread loosely coiled and knotted is called

A skeins
B: yamn
C: canvas
D: silk

90 90 | Pick out the antonym of the word "ample".

A great

B: plentiful
C: generous
D: restricted

91 91
Find the length of a room whose area is % sg.m and whose breadthis 2 % m.
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(T, Hemmuiledt LigLiL % &.15 HmIb 56T Hmeud 2 % 1B ereuflsv, oygesr

THEMLD eTeuTeuT ?

A: 6m
68
B: 8§m
8 L
C: 10m
10 5
D: 12m
128

92 92 | HCF of two consecutive even numbers is :
SMS55HES QUL LILeL eTesorgerfledr WS.aum.e:

A: 4
4
B: 1
1
C: 3
3
D: 2
2

93 93 | A ration officer would like to fill the room of size 4 m x 12 m x 16 m with jute rice bags cach of size 240 cm x 160 cm x 40 cm. How many bags he can
stock ?
26 CIaQeiT HEnL AT 4 LS x 12 LS x 16 LS 2{6TaETET Sj6mM (D (DEUSILD 240 Q&FLS x 160 Q&FLS x 40 QF LS S| 676 6TET & 600T60
1S el L HemaT 2H\&GSHMTT 6T6vfl6v, QUM 6T&HHemeT 2 f1H el L GHenaT 2(H&& G Uil ?

A: 150
150
B: 75
75
C: 500
500
D: 600
600

94 94 | A perimeter of the square is 60 cm. Find the side of the square ?
FHITSHH 60T &HMETe] 60 Q&L eTevflev LIS & 3|66 & IT6E00TS.

A: 2cm
2QF.18
B: 10cm
10 Q&8
C: I5cm
15 Q&.15
D: 7cm
7QF.8

95 95 | Which one of the following numbers are square and triangular number ?
G LD G G00TL 6T600TEH 6116V 6TSI (L0 &G 85 TE00T 6T6UoT DM MILD FSIIT 6T600T &L ?

A: 9
9
B: 16
16
C: 36
36
D: 49
49

96 96 | A cubical tank can hold 125000 liters of water. Find the length of its side in metre.
@b HOTFFSIT allg6l BT QSTLIQUITeTS 125000 LT BT Q& TeTEBLD 6T6vfl60 265 Q&L 19 UIN6DT LIS 55 F) 60T [BemsHens
1S Lflev & mevorss.

A: S
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A Find the complementary angle of 'x* :

70° 500 |

X o Y

X - it BT S CamenTHens s &ITeiTs.

X
70 50°
X o Y
Al 600
60°
B: 1200
120°
C: o900
90°
D: 300
30°

o8 98 Highest common factor of (3125-1) and (335-1).

3125 1) inpmith (3% - 1) S weubH et SLIGLIMH GQLINSIS STy :

A 335
33501
B: 3254
3251
C: 35
35-1
D: 3125
3125 4

9 99 | If the non-parallel sides of a Trapezium are equal then it is known as an

2 FIfle15H 5 S 60T @)60 600D LIS MBISET FLOLD 6T6v(160 SIS @ ereorLILI(HILD.
A : Rhombus
FTUFSITLD

B: Parallelogram

@) 6060 [T LD
C: Isosceles Trapezium

@ BFLLSES Fiflausid
D: Rectangle

Q&F6UEUSLD

100 100 55,89, x, 233,377, 610, ... The value of X' in the above sequence of numbers is :
55,89, x, 233, 377, 610, ... GMH&MeILh erevor euiflenguiley 'x' 60T IOGHLIL] :

A: 134
134
B: 144
144
C: 154

154
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D: le64
164

101 101 1f 26 students shared 104 pens equally then how many pens are required for 150 students ?
26 LDTEOOTAU &6 104 CLIeTTE:&HeneT FLnsLl NG5 O0\&GRHMMI&H6T eTesll60 150 LOTETOTEU 8 6H8: & 6785 6M60T GLIGOTITE: 86T
L& GLD ?

A 450
450
B: 600
600
C: 750
750
D: 150
150

102 1102/ [f line segment 126 cm long is to be divided into two parts in the ratio 3 : 4 then find the 15 times of the biggest length.
126 Q& .15 Hem6TeT e(H CHIML (& SlevoTemL 3 : 4 aTedTm R FHSHH 6L @ TevorL_Md LiflG s mev BevL&&W0 Ul CHML(bh&
S1600T19.60T [BETS B 60T 15 LDL_MBIG 6T6UOIETE)] ?

A: 630cm
630 Q&F.18
B: 1260 cm
1260 Q&.15
C: 1250 cm
1250 Q&.15
D: 1240 cm
1240 Q&5

103 103
What is the ratio of 4% dozen apples to 129 apples 2

4% Lenstt <y l19lerflsb 129 oy 196lT eTaiTLIS 68T 69 &IB10 eTstTesT 2

A: 45:129
4.5:129
B: 3:86
3:86
C: 18:43
18:43
D: 43:18
43:18

104 1104 1f 160 children shared 1440 pencils equally, how many pencils are required for 253 children ?
160 GLLHE S 6T 1440 QLIGTR L& em 6T &g LNfle&&ReTmet eTenflev, 253 G L0He0 &S EHE G Fnms Liflés 6185 606t
QUETR V56T BHeme ?

A 2277
2277

B: 2727
2727

C: 2772
2772

D: 7272
7272

R If 55 +3g = ﬁ then the value of x is

5 7 5

5% + 3% = % eT6ufleb X —65T LI
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106

107

108

109

106

107

108

D: 16
16

The angle of rotation of a regular polygon is 40° then whose name is :
(5 R(OMHIG LIV CoHMeTSH 60T &LMF & Casmerurid 40° 6T6u16b 211 Liew G MetuTS S et QLI :

A: Hexagon
S| MIMBIGS 60T Lh
B: Pentagon
SOMBIG & IT6UoT LD
C: Octagon

6T6u0T G5 MT6uoT LD
D : Nanogon
6R60TLISI LIS SHMHISHET GlaMetorL LIy G&meuorid

What is the 15™ term of the Fibonacci Number Series ?
LNUIGeTT S eTevordH6T QBMLFl6L 15 6ugl 2 miLIL| &T600rss :

A: 233
233
B: 377
377
C: 610
610
D: 987
987

Add the shaded portion in fraction :

BlpeblLtul’ L ugglsene Ksirsr wWenpuilen Fal (K& :

>
| en

| en

@]
@|w mlw wlw ulw

| = da | =

Sum of the value of shaded portions of the figure

77 . I\ . (D, ..
&
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/ /‘V\ uLgSlev Bloedli L ugHlseflsi
+ ¢ g y +
Fa(hlEHeu
A
2.
12
8,
12
B: 4 9
12
.8,
12
C:
1
12
12
12
D:
gpila
12
gt
12
110 /110 The number of three digit numbers are framed by using the numbers one time 0, 7, 1 is .

0,7, 1 2SI 6TE00TEH 06T (B LLEMM LIWETLG SS) 2 (heumsaLILGID eneilevd: & eTetoraserfledr 6reooreunf] 56085

A: 4
4
B: 6
6
C: 18
18
D: 27
27

1
If the sum of @ number and its reciprocal is %5 Find the number.

@I 6Te0oT LMMID N 6T Hemevdll 2y Elweumn il Fahlssn % eTeutlen, B

ETEUUTEIE0UT S S ITE00TE ©
A x=7l,x=8
8
1
X=——,X=28
8
B:
x=—l,x=—8
8
1
X=——,x=—238
8
C: 1
X=—,X=—28
8
x:ljx=—8
8
D: x:l,x:s
8
x:l,x:a
8

12 1z The birthday of Siva is 22.12.2017, which is Friday. What is the day on oth July 2018 ?

Fleumeledr LNMIBS BT 22.12.2017 Si60Tm1 QeueiTarla Hpen Lo 6Tevl16 2018 LD 21,600T(H) LDV 9 DD CHD) 6T6oT6E0T HpenLn ?

A: Sunday

@muilm
B: Monday

GET IT ON
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G BIG 6T
C: Tuesday
QLB
D: Wednesday
L geor

113 /113 The HCF of 128 and 152 is 152x + 128y then the value of x and y are :
128 LOMHMILD 152 eT6dTM 6T6v0TEs6rfl6dT LS. QILIIT. 6u 152 x + 128 y 6T6vfl6b x LOMMILD y 60T LDHLIL|&6T (emmGU :

A: 5and6

5 MMILD 6
B: —5and-6

-5 LDHMILD -6
C: —5and6

-5 ML 6
D: Sand-6

5 LMMID -6

114 114

yih

\th
r b |
Mohan's monthly income is Rs. 28,000 he spent ‘ %] part and [gJ part of his
\ \

income for rent and education respectively, the spending amount for
education and rent is respectively.
Gurseflett Mg  eugpLTeTD . 28,000/~  oeuf wWeopGuw Sers
BU(HLDITsET 860 (%J umig WmmiD [%) UGIens 6UTLEmS  LOMmILD
sevelleans CesvaliElomy  aeflss WwenpGw  sHeuefGbsTHe D
SUTLen&EHET&EE|D tlFsualil(Hib Clemensss :

A Rs. 8,000 ; Rs.10,500
Rs. 8,000 : Rs. 10,500
B: Rs. 10,500 ; Rs. 8,000

Rs. 10,500 : Rs. 8,000
C: Rs. 7,500 ; Rs. 10,500

Rs. 7,500 : Rs. 10,500
D: Rs.9,500;Rs. 7,500

Rs. 9,500 : Rs. 7,500

115 115 Number of sides of a polygon having 44 diagonals is .
44 epemeuaillLMEIG6T 2_6T6T 6 LI6VEE: 600 ) 60T Ligs &M1& 6Nl 60T 61600760011 8560185 :

A: 22
22
B: 11
11
C: 4
4!
D: 4
4

116 116/ 1n AABC and ADEEF, if AB = EF, BC = DE and CA = FD then :
AABC L0MMILD ADEF 60 AB = EF, BC = DE, CA = FD 6T60T @) (BH&IT6V :
A AABC = AFDE
AABC = AFDE
B: AABC =AFFD
AABC = AEFD
C: AABC = ADEF
AABC = ADEF
D: AABC=AFED

AABC = AFED

1171117 Ganesan has Rs. 800 and wants to divide it between Uma and Veni in the ratio 3 : 5 how much money more is one person getting ?
5 G6U0TE 60T 6T60TLIGUIT €Mh 800 eMEUSSIETATTT SSHQSHTeNSGemUL 3 : 5 6TedTm NGB HHH 6L 2 10T WML Calenn1&E LNl s
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QHMH&EHR M. RHaUT QUL AFH &S QH TN :

A Rs. 200
ém. 200
B: Rs.300
€p. 300
C: Rs. 500
€. 500
D: Rs. 100
ém. 100

118 118
If (10 + y)* = 50625 and (7 + x)® = 10000. Find the value of Y.
X

(10 +y)* = 50625 (7 + x)5 = 10000 erecfled, % —sbr A :

A: 3
5
3
5
B: 4
5
4
5
Cc: 7
5
7
5
D: 5
3
5
3

119 119 If two successive reductions of 10% and 15% are given on the marked price of an article and a customer gets the article for Rs. 1530, the marked price of

the article is :
2@ QUITGBET 6T GMGS elemauuiey QSHTLFFRWMS 10% LHMILD 15% SHETEBLIG &H6T aUMHRIGSLILIL(H), 625 6UITLY.8 608 WITET T
SLQuUTeTlemner emb. 1530 @& QUMIBMTT eTevlev, LIQAUTH6T 6T GM&S el emeumeTs :

A: Rs. 1600
em. 1600
B: Rs. 1730
em. 1730
C: Rs. 1800
erp. 1800
D: Rs.2000
€. 2000

120 120 A safety locker in a jewel shop requires a 3 digit unique code. The code has the digits from 0 to 9. How many unique codes are possible ?

2 ([ 5M& & HenL_UileL 2 6Tem LIMGISGTLIL QUL LSS M T HMe)d:CaTeV 6T600T 3 ()608: 818 6m6Tgs 68 MeoorL
560116 B16LDITEUT 6T600TE00T TS 2| 6MLOLILIS MG, 526UQ6UMIH @)L LG LILIILD 0 (LG6V 9 6UemTUNEVITEIT 6T600TE: 60 6Md 685 T6voT(H)
2 ([HeUMES Galeuor(h G Neflev 6(H &60flE5 ST H M6 s G TV 6T6iT S EMLOLILISM S 6186 S6m6e0T 6l &Lnmeor 6uLdlE: 6T

2 _6TeTs! ?
A: 10,000
10,000
B: 648
648
C: 720
720
D: 1,000
1,000

121 1121 He was the pioneer in using of artificial lighting in photography.

@auJ LemssLILL &&Hem60ule) QFwmens sperflen i LIWeTLI(HSSI6USH 60 (6T GeorMIqUITE: H&BDHST :
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A : Samuel slater

FTLCeuev FIGeLLLIT
B: John D Rock feller

SQITEDT LY. [J & &G LIGVEVIT
C: Felix Nadar

QUGS 86N BLITH
D: Jhon Key

et G&h

122 122 The radius of the earth is

Leflulledr @y
A: 6371 kM
6371 &.18
B: 6173kM
6173 &.18
C: 6137kM
6137 @18
D: 6713 kM
6713 &).18

1231123 The biggest hydro electricity power located at .
2 ewRer &L Quflw BIder 565 SemwnbSiaTer @ L b

A: Dhamodar Valley

STCLMGT LeTens &M@
B: Bakra Nangal valley

LIS T ITHMHIG 60 LIGTETS S Mo &
C: Tripple valley

WPLILIETETS &M G
D: Hirakud valley

NG L LI6TeTS S ME G

124 1124 The first attempt to produce iron and steel unit was set up at in India.

@ @GLOL MHMID 678@& 2 MUSH QSTIHNDHFTE6 (LNSHET (LNSH696L @ BHH Wmeley 2 _6iTer 6 QBMLBIGLILLL .

A : Jamshedpur

Qe LJ
B: Bhilai
Weumul
C: Burnpur
LTy

D: Porto Novo
GuUITICLMEBTeuT

125 125 Which of the following statement is not true ?
FECLD Q&ETHGHSLILL G ETET M mIGefl6) 615 Heummerg ?

A1 68% of Earthquakes occur in Circum-Pacific belt.
2_H 6T 68% BlVB(HISH&MHIGHET LFILINS QUGS LGHUilev amLIBHS 6iTmeor.
B: 33% of the Earthquakes take place in the Mediterranean - Himalayan belt.
33% BlevB(HHHRBGET GG W FMIHHL LGS - GLow el LGHelenguilawd ghubhS ermeor.
C: InIndia, the Himalayan region and Ganga Brahmaputra valley are prone to Earthquakes.
@BHWmele Gwinamell UGH &6, &k LTnusHrm Fun6ealeflseT Bleunb(h&e LGS &eTmELD.
D : InMaharashtra Earthquake occurred in Koyna in 1967.
19676V LOSTTTEQLQTTeN 60 2 6TeT Q& MleTmell el BlevHH & &M 6T LI (H 6T6Ter.
126 126
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Match the following :

Event Period
((s}] Madras Vilage Panchayats Act i 1994
b) Madras District Development Council Act {ii) 1958
[c) Reform of Local Administration Act (i) 19250
(d) Tamll Nadu Panchayat Act (Iv) 1957

Bhdsarabemmll GUMHS SIS

Bl S D6 H6T HTeuLh
(a) LOSTTe FTTD UEhamuss FULLN i 1994
(k) IGT M nmeul L cuanf&F selstt&lel UL LN (i 1958
(c) o &Teas ] BlTauTs BTEMGESS #1110 (i} 1950
(d) SULBTH UEhsmusS s FUL 10 fiv] 1957

A (@)(iid), (b)-(ii), ()-(3), (d)-(iv)
(@)-(iii), (b)-(ii), (¢)-(1), (d)-(iv)
B (a)(iii), (b)-(ii), (¢)-(iv), (d)-(i)
(a)-(iii), (b)-(ii), (0)-(iv), (d)-(i)
C: (@)-(iv), (b)-(ii), (c)-(ii), (d)-(3)
(@)-(iv), (b)~(iii), (0)-(ii), (d)-(i)
D (@)-(0), (B)~(id), (c)-(iv), (d)-(iii)
(@)-(1), (b)-(ii), (©)-(iv), (d)-(iii)
127 1127 Choose the correct answer from the codes given below :

Assertion (A) : Damarla gave British a piece of land between cooum river and the Egmore in 1639.
Reason (R) : Francis Day accompanied by his interpreter Beri Thimmappa and superior Andrew Cogan.

GGG FaHMI, HTTOTHMS CHT6| QFUIS :

FaMMI (A) : Faalld BH&GLD TWRDLLBEGLD @emLuiley @ F o LGS Blovsamns 1639 HnFeur L1FlL 1969 THES S
QULDMBIGEOTITI.

SMTI6ooTLD (R) : LIFmedr&env GLwyLer Quomdll Quwiglinimerymenr Quil SO IoMMID 2 WF SeNe6eVT 2b,600TL ([
G&H TG 60T 2_L 6ol l(BHS 60T .

A: (A)is correct and (R) is wrong
(&) gD &1, (R) SMTeworLD &6um
B: (A)is wrong and (R) is correct
(A) &nHO UM (R) STesord &ifl
C: (A)and (R) correct
(») Hod (R) @reorGLb &ifl
D: (A)and (R) wrong
(&) DO (R) @TaTGHID Seum
128 1128 Which one of the following committee was responsible for the formation of Panchayat Raj in 1957 ?
@ UMD MIET 6T&I 1957-10 4,600T(H LIEHFTWSS TR SemoliL] gHLIL & SHTFeoTONS @ (BHES Mol ?

A : Sarkaria commission
FIHE&TAWT & W

B: National Extension service
CsHAW BLg LI CFemel

C: Election Commission
BHTH6V 260600 WLILD

D : Drafting committee
emIels G

129 129 Which one of the following factor is not a determinant in agriculture ?

L9\ 65T6u (H 6u 60T6U M MIGIT 6TTHG S TTeoot] elleuEF TGS eng &I LomesflLILIG cvemev ?

A : Chemical factors
GeauHuNulev &myevo &6
B: Physical factors
@WMHEn & &5 & ITITe00! 56T
C: Infrastructural factors

2 _6T&HLL6MLOLIL| &ITJ600f & 6iT

D: Technological factors
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Q&MA6LBIL LI &Tyeol] &6T

130 1130 At the commencement of the Constitution in 1950, our Supreme Court consisted of how many judges including the Chief Judge ?
1950 21D 24,600T19.60 ATRWeenLDLIL] FL L QBT E&55H 6 Henevenn BHLG 2 I LI 61§ 5mer BH LG SHener o &g

BHOETOLD Q& TEToTIq (BHSS! ?
A: 10
10
B: 12
12
C: 15
15
D: 8
8

131 13

How many biosphere reserves are in India ?
@BHWTeNe 616 ST 2 UNTEGSHTETE: &ITLILIGKIGHET 2_6TeTeor ?

A: 12
12
B: 15
15
C: 120
120
D: I8
18

1321132 Name the plant and parts used to treat dengue fever.
QLMAIG &TUEFFM GaTILOSS 2 5a|lD STeUTSS 60T QUWIF LMHMID LWeaTUGSSID LGS :

A : Carica papaya, leaf and seed
s&riflam ulumwim, @eneu&eT nmmih 660 &8 6T
B : Cinchona officinalis, Bark

FetTCHTerT 3 &LNF 6T medl 6y, LU el

C: Rauwolfia serpentina, Root
TeyeuLWIm Q& FL6TIQ 6T, Gouly
D : Cathyranthus roseus, all parts
B&HHSTMHH6N CITRILIGN, eMETHS! LI H) &6
133 13

@

Phyllanthus amarus belongs to which family ?
SUeVeLITH& 6N SUDMT6N 6TH%H GO LGS FMTHSS! ?

A Solanaceae

Q& mevGevrerdl
B: Euphorbiaceae
we&GuTFLGwed
C: Liliaceae
696velGwend

D: Malvaceae
LML Geuend

134134 Which is not the example of twiners ?
Clitoria, Jasmine, Bitter Gourd, Sweet peas.

Q&MH&S&LILL(H6TeTalmmI6T eTen el LI6Ten Q& ITIQ 8 E 2_GTT6urD E)6V6m60 ?
FhIGL W, 06066 &, LIMSHMHETUI, @ eoflliL] L L mevof]

A : Bitter gourd and sweet peas
UMSM&T LoMMILD @ eofliiL L L meoof]
B: Clitoria and Jasmine
FHIGL L, InHMILD 10606060 &
C: Clitoria and sweet peas
FIGL U, LoMHmID @)eofLiL) LI L meoof]
D : Bitter gourd and Jasmine
LIMSM&TU HMILD 1D6V6dlen &
1351135 Which small creature have three pairs of legs ?
NG @) 6M600T S TL&EHeM L Fnilw 2 ullifleorid 61 ?
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136

137

138

139

140

A: Ant
eTmILDL
B: Spider
FebH
C: Dragonfly
SLLTD LR
D: Butterfly
6 600T600T S5 S L1LL & &)

136 Find the macrominerals needed by human from the given list :

06rflFe18 & CHemauliLI(HLD QLIIHLD 6T6)| SH6ofllnmIGeeT Q&BTH &SLILL LS 6 @)\ hHS! &60orL s :

A : (i) Calcium, (ii) Potassium, (iii) Copper

(i) TS WILD (if) QUITL_LTHlwiLd (iii) i yio
B: (i) Potassium, (ii) Magnesium, (iii) Iron

() QUITL LIS WD (i) Qo eof@ Wb (i) @ Loy
C: (i) Potassium, (ii) Calcium, (iii) Sodium

() QUITLLMHIWILD (ii) SMVGIWILD (iii) GFMIQUILD
D: (i) Calcium, (ii) Sodium, (iii) Iron

(i) SIS WILD (i) GFMIQUILD (iii) @)BLDL]

137 A Cheetah can run kilometer per hour.

F MGG D66 & RS CalsH5H 60 RLEFIUIG.
A: 26
26
B: 36
36
C: 76
76
D: 56
56

138 The change in colour of fruit during ripening is due to the presence of :

LILDTRIS 6T W& G CUINgl Sjieum et BImLD LrmiLGHmal. @SHE SMFesrd HHev &meoor LI :

A : Chloroplast
&Germ@ymLiemmeuL.
B: Chlorophyll
&CemmGrmLieL
C: Chromoplast
&CImGmLNeTmeruL.
D: Leucoplast
NG MLIemmeuL

139 Hydrophobia is related to :
e GrreuUTLIWIT Q&I 6T QSHTL LI WS :

A: Dog
BT

B: Snake
umby

C: Virus
6m6UTEN

D: Polio
GumedlGwim

140’ What is the phenotypic ratio of F, generation in Dihybrid cross experiment of Mendel ?

QLnevorL69l6dT @) LIeooTL|& SHevLiL] GFMgemeruiley Fy emeuwenmuiler Lm&CHTHMm el&ISLD

A: 1:2:1
1:2:1
B: 9:3:3:1
9:3:3:1
C: 3:1
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3:1
D: 1:2:2:1
1:2:2:1
141 /141 Which Indian pilot from Punjab was selected as a cosmonaut in a joint space program between India and Soviet Russia, and became the first Indian to enter

into the space ?

@BHWT CFmaillwg JequITe L 6T G 66T hal HLSHW e el alef] auuiald G L LSS eneuld LIS L
DTGB CFIHS 6THS ellnment] efstorGeuafls@GE QFeven CHTa QFWWLILIL®), N6 ealet s EGE QFeTm (g6
@BGHWIT 6T6dTmM QUBEMLDEMWL QUHMITT?

A : Rakesh Shankar
TICHE FMhIGT
B: Rakesh Gupta
Tré&sey GLUST
C: Rakesh Sharma
TrG&Heq FFLOM
D: Rakesh Kumar
TrC&He. GSLOMY
142 142 The freshness of fish and meat is maintained by placing them in contact with ice. This is because of .
5631 LDHMILD GemMEFER e Lievfla L 1qullei6iT meuLILIGET VLD SiFHem6DT LigSleuor ey et LFmoifl&s (pLgui.
SIS METET SITTEUOTLD :

A Anomalous expansion
Bifletr siFmHTIesor eflifleumg &
B : Latent heat of fusion
2 (B &SI 6T 2_6TEBemm QeuliLID
C: Latent heat of vaporization
B eelwrgseder 2 6Tepenm Qeuliumn
D : Specific heat capacity
H60T QeuliLl LSS medT
143143 The gas used for the removal of carbon impurities from steel :
TG IGTET SMTILICT meng B&HE LiweTUG S :

A : Carbon di-oxide

SITTLGT DL 3,860 F ()

B: Nitrogen
6B LT E260T

C: Oxygen
21,6 & 60T

D: Ammonium Nitrate
2| Gnmesflwid enBL Gl

144 144 Most abundant element on the earth :
LAuN6L ABS 2i6T6y B L& HETnlq L FevflloL

A: Hydrogen
QML Te26dr
B: Oxygen
21,65 82607
C: Helium
anjedlwib
D : Nitrogen
BT 23601

145145 ype density of ice at 0°C is .

0°C -u96v Lesll& a1 ull6T 9L T&HG

A 091 glem?

091 8/ Q& .15
B: 097 gem?

0.97 8/ Q& .13
C: 1 gem?

19/ Q&3
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D: 2 g/cm3
26/ QgL
146 146, Number of protons, electrons and neutrons of an element are 12, 12, 12 respectively. Then its atomic number and mass numbers are :

(b Sl GH 60T LIGITITL LTI, 6TQ6VEL_ITIT60T LOMMILD [5] W, L[ T6dT 61l 60T 6T600T60011 86085 (LDEmMGW 12, 12, 12. 6T6vf1 60T, 28 60T
S| & 6T6U0T, BlEOID 6T6U0T (MG :

A: 12,12
12,12
B: 24,12
24,12
C: 12,24
12,24
D: 24,24
24,24

147 147 The value of atmospheric pressure at sea level is :
HL6V DL L SHH6V eUeflLo6uorL 6V (DS H5H 60T 366 :

A 760 m.m. of mercury column
760 LA.LS. LUMTSTE SLDLILD
B: 76 m.m. of mercury column
76 LO.18. UMSTE& SLOULD
C: 760 c.m. of mercury column
760 Q& .15, UMSTEF SHLOLILD
D: 7.6 m.m. of mercury column
7.6 1A.LS. UM TF SLbUD

148 148 The binomial name of Dates is :
CufFengulledr @O & MeL QLI :

A : Phoenix dactylifera

&CUmenfla e LgemLedeQum

B: Citrus sinensis

FIL_7erv 60 &F euTedTerdleny
C: Cocos nucifera
HM&H&6 BlIWHQUITT
D: Allium sativum
916Ve9WILD FLemL6UlD
149 1149 Thermos flask prevents heat being transferred from the inside to the outside of flask by

QeuliLg &BH 60 6UWIMETSI §LD& & 600TL (LEDM&ETTE QauliLl SLHM6L &Hleneuuller 2 6efBHa QeueflGWw LTa|5emeus
5O &R :

A : Conduction and Radiation
QauliLG &LSS 6V nMHMID QeullLg &FH Fefeev
B: Conduction and Convention
QaUlIL& &L GS6V LDMHMILD QleULILIE FeVeTLD
C: Convention and Radiation
QeUlILIF FeuerTld LDMMID QelliLG &HTeiFen
D : Conduction, Radiation and Convention
QaullLIG &LESH6, Qellilg &HFefsev InHmIb QeuliLg Feverih
150 1150 Why glassware used in kitchen are Pyrex Glass ?
FeannwevanMUI6L 60 LITE e &6ooTeunr LY. LILIETLI(H &S &ITT6euoriD :

A : do not expand much on being heated
QaulILILGSSIDCUTS F&W0TS eflifleuen L Wims
B: do not conduct heat while cooking
FOLNEGLEUME QeUlILGMS HLSHSMS!
C: do not broken while drop down
GECLp aNWECUTSI 2 ML WM

D: itis good conductor of heat

QALILGENS BT SLESILD
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